
Square Root Function - Revisited

We already studied the function:
f (x) = x1/2

Although, at the time we called it:
f (x) =

√
x

If we already learned about the Square Root function (f (x) =
√

x), why
should we introduce this new way (f (x) = x1/2) of talking about it?
One major reason that it is nice to use the form f (x) = x1/2 is that we
can use all of our Rules of Exponents

We learned how to graph
y =
√

x

We saw that the domain is x ≥ 0

We use graph shifting to graph
y =
√

x − 2 + 3

We saw that the domain is x ≥ 2
Where do these restrictions on the domain come from?

http://coobermath.com/Graph_Shifting/Basic_Graphs/Graph_x_sqrt.pdf
http://coobermath.com/Exponents/Properties_of_Exponents/Power_Rules_all_recap.pdf
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Square Root Function - Revisited

For the function f (x) =
√

x
The Domain: x ≥ 0
This is because if we take the square root of a negative number, we no
longer get a real number.
So, what we’re taking the square root of (x) must not be negative.
For the function f (x) =

√
x − 2 + 3

What we’re taking the square root of (x − 2) must not be negative.
Which means that: x − 2 ≥ 0
The Domain: x ≥ 2
In general: The domain of

f (x) =
√

g(x)
is the x value do g(x) ≥ 0
Note: In f (x) =

√
x what we are calling g(x) is x

And in f (x) =
√

x − 2 + 3 what we are calling g(x) is x − 2
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